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Paul Baker Telescope Focal Length Parameter Relationships
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Back Distance B vs k
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Mirror F-Number

Focus to Mirror Distance, mm
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Mirror Conic Parameters
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Normalized (to D) Third Mirror F.L.
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Delineate parameters for specific case

fefr := 1200 k:=03
FSys =4
fetr
D= — D =300
Fgys
D, := Dk Dy =90
f1 = (1 = k)-fefr f] =840 Ry =21 Ry =1.68x 103
f2=kfy f =252 Ry =2 R, = 504
2k
B=——1f1f-fi+f B =132
-k 1 1 2
f
f31=—— f3 =360 R3 =213 R3 =720
1-k
2
Plogs = K Ploss 100 =9
fi o 1 0
Foums = | — — ——\ Fnums = (2.8 2.8 4)
D D 1-k Dy )
Sipi=11 -1 S1p =588
G s 3 (2K
2RI T Sp3 =720
2-f1-f
B:= —fi+ £ B =132
fi -1
Kj=-1
3
Rz\
Kpi=—1+|— Ky = —0.657
R3)

(C)2009 J.A. Crawford



